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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you ————— to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—--; the Kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -----=---- matier.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -—--—----- for committing the crime.
1) inhibition 2) motive 3) impact 4) Inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—-——-
forcibly.

1) dissent 2) vanish 3) avoid 4} abate

8- “It is my firm --——-—- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviclion 4} deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
——-—- dictionary.
1) skilled 2) publicized 3) eultured 4) unabridged

10- Because the hikers planned to reuniie at 4:00 P.M., they paused to --—--—-- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) =seeeeaee- the desired crop relatively unharmed.
Some of these act by interfering with (12) -=-=-=---- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railwavs and railway
embankments are not selective (13) ==meeaeeee all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) ~emmmmemme as wildlife habitat.

Some plants produce natural herbicides. (135) === the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kall 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PARTC: Reading Comprehension

[ Directions: Read the Sfollowing three passages and answer the guestions by choosing the |

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheel.

PASSAGE I:

Conservatism is the doctrine that the reality of any society is to be found in its historical
development, and therefore that the most reliable. though not the sole, guide for governments is
caution in interfering with what has long been established. Clearly distinctive conservative
doctrine emerged in the 1790s. in reaction to the rationalist projects of the Irench
revolutionaries, and its classic statement is to found in Edmund Burke's Reflections on the
Revolution in France (1790). Burke's historical emphasis was itself the outcome of deep
currents in European thought, currents rejecting abstract reasoning as a method for
understanding the human world. The sheer flamboyance of Burke’s rhetoric was necessary to
bring conservatism into the world, however, since the doctrine in its purest form consists of a
few maxims of prudence (concerning the complexity of things and the wisdom of caution)
which. in the intellectualist atmosphere of the last two centuries. make a poor showing against
the seductive philosophical pretensions of modern ideologies. These competing doctrines claim
to explain not only the activity of politics, but man and his place in the universe. Burke himself
thought that this wider picture was supplied for us by religion, and thus he was prone to extend
the reverence appropriate to divine things so that it embraced the established institutions of
society. This fideist emphasis. however, ought not to conceal the fact that conservatism rests
upon a deep scepticism about the ability of any human being. acting within the constraints of a
present consciousness. to understand the daunting complexities of human life as it has
developed over recorded time.

16- The passage is mainly about .
1) different emphases in conservatism
2) different methods in conservatism
3) conservatism and its historical developments
4) comparing conseratism with other methods in social research
17- It can be inferred from the passage that -——----—--—---- .
1) rationalists are against conservatism
2) Edmund Burke was a supporter of conservatism
3) currents in European thought were rejected by abstract reasoning
4) Burke's rhetoric didn’t have any roles in bringing conservatism into the world
18- The word "daunting" in line 18 is closest meaning to A
1) interesting  2) discouraging 3) supporting 4) vast
19-  According to the passage, conservatism encourages governments to :
| ) foeus on political activities
2) rely on the historical development of societies
3) establish modern ideologies
4) interfere with the established instituitions of society
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20- The passage states that competing ideological doctrines
1) reflect the complexities of human life
2) establish instituitions of society
3) are based on religious thinking
4) explain the activity of man and politics in the universe

PASSAGE 2:

The modern field researcher has the double task of collecting data and analysing it. He must
first describe events and customs from within, in order to search for patterns and to explore the
cognitive maps of his subjects. This is ethnography. He has also to trace developments over
time and to compare his findings with data in other societies. He must then provide insights
into the factors influencing similarities. differences and developments. Basic to his task,
however. is the quality of his own field data. His primary research method is participant
observation, supplemented by a growing arsenal of research instruments.

Participant observation basically involves living for an extended period alongside the people
being studied. This period can vary from several months to more than a year. depending among
other things on the rescarch problem and available funds. (In Eastern Lurope short research
expeditions are more common.) To get to know the people he is studying the ethnographer
must as far as possible share their experiences. It is obviously essential for him to learn the
local language.

Participant observation in a foreign culture is a deeply emotional. sometimes even a traumatic
experience. The hardships of fieldwork can be extreme. but so can the rewards. For months the
ethnographer lives in close contact with his subjects. He shares pleasures and griefs. hardships
and victories. He often becomes involved in their personal and group contlicts. He also has to
face and solve the myriad problems of daily life in new strange surroundings, to learn to give
new content to such familiar roles as friend. neighbor, husband and father, and to act these out
in public under the critical eyes of his new neighbours. He must always be fair, pleasant and.,
above all, constantly available. He will be subjcct 1o pressure to take sides in personal disputes
between close informants. to express.openly his preference for a particular faction, political
party or class. Unless his introduction into the community has been carefully prepared through
high status persons, he may have a marginal position. He then becomes fair game for other
marginals in the community who seek hint ou.

21- The passage is mainly about --=--ececeaaee "
1} the hardships of fieldworks
2) an introduction to cthnographic fieldwork
3) features of a goud social researcher
4) implementing participant observation in a foreign culture
22-  All of following are the responsibilities of a participant observer EXCEPT -—------ A
1} having a marginal position
2) taking sides in personal disputes
3) organizing different research institutions
4) sharing pleasures. griefs. and experience
23- The word "arsenal" in line 7 is closest in meaning to .
1} group 2) field 3) source 4) weapons
24- It is implied in the passage that the most important issue in ethnography is -——--—--——--,
1) the researchers’ critical eves
2) funds available in doing the research
3) deep involvement in an observed society
4} careful community preparation through high-status persons
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25- It is suggested in the passage that
1) getting to know people should be biased
2) the time period for the ethnography is fixed in all the studies
3) the main goal of a social researcher is solving daily problems
4) in ethnography finding similarities, differences and developments is significant

PASSAGE 3:

Cohort analysis (also known as longitudinal analysis) refers to studies measuring
characteristics of cohorts throughout their lives. a cohort being a group of persons who have
experienced the same life event during a specified period of time (usually one year). If the life
event is birth, one speaks of a birth cohort or generation. One may similarly speak of marriage
cohorts, divorce cohorts, educational cohorts, ete.. life events respectively being in these cases
marriage, divorce. or attaining a certain level of education, during a particular period of time,
For example, one may follow over time a cohort of marriages in order to see how many
couples eventually divorce, and to determine the risk of divorcing at each duration of marriage.

Cohort data are usually obtained by comparing the characteristics of a cohort at two or more
points in time, using census or sample survey data. When the same individuals are thus
compared, the term 'panel study' is often used. Demographic and epidemiologic data on cohorts
can frequently be derived from records or registers, such as vital statistics or cancer registers.
Other important sources of cohort data are retrospective studies, where respondents are asked
to give information concerning past characteristics and events.

All cohort data are affected by possible selection effects: people die or move between
censuses or surveys: similarly, retrospective questions can only be answered by those who
survive! If people who are lost to follow up have other characteristics from those who are
interviewed. biased results may occurs. Retrospective studies are, moreover, influenced by
recall lapses: one may forget to declare events which happened many years ago.

Cohort measures may relate to characteristics ol the cohort. or to events experienced by the
cohort. For example, one may make a comparison between cohorts in an inter-cohort study. the
proportions ultimately single. bachelor- or spinsterhood being the characteristics considered.
birth being the event under study. One may also be interested. in an intra-cohort study, in
changes in characteristics during a lifetime or in the distribution of events by age. e.g. changes
in proportions surviving by age. or the distribution of deaths or risks of dying by age.

26- The main purpose of the passage is to
1) suggest several research methods in cohort ﬂ]‘lill}”it'-‘s
2) propose different ways of data collocation methods in longitudinal analysis
3) state this fact that cohort data are affected by possible selection effects
4) define the concept of cohort and different types of cohort data in cohort analysis
27- The main aim of cohort analysis is ---——------ -
1} monitoring a group of people during a specified period of time
2) investigating the rate of divorce in the cohort of marriage
3) collecting only demographic data on different cohorts
4) organizing an inter-cohort study related to different types of cohort
28- It can be inferred from the passage that .
1) panel study is implemented on only one cohort repeatedly
2) retrospective studies cannot be considered as the panel study
3) only census or sample survey data should be used in cohort analysis
4) the rate of marriage can be increased by implementing cohort analysis
29- The word "biased" in line 18 is closest in meaning to ‘
1} cleared 2) declared 3) repeated 4) one-sided
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30- The writer clarified the concept of the selection effect by -—---------—-- .
1) narrating a story 2) giving an example
3) explaining a concept 4) comparing and contrasting
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